.
5f ) K E KL New

P%Eé';%:ﬁlﬁ

«I"EIIE%J?E?T%%I" AL H1S°
B FATH AREA15°, (B B LT, IETHIRE

( 1\&«?\/{% iﬁgﬁ;ﬁ) RR A&

CKZ3N %7 CKZ3T %7

CKZ3 %5 & S\NC

CAT.CS20-202A



5 1 e X ST

050, 063

NAAMS A% (North American Automotive Metric Standard (i f55k) Fs i

(RIS i
mﬂ'ﬂkﬁ*@ﬁ 2 FAREBRYE

RPE- 2B

RIPEIRIT AR,
B LR R = A R R T

TARTRIK RIVE. K
e UL 945 VO 4 X A 1

.
.
-'..
0o’
o®
oe®
®
oe®
o®
o®
o®

REMF—182E, AT LA EEUT
FXE
New frAfe @A IAEFB LI X

AN AR

2 o
b
.
L
: =
New PN
........ . & i
Rei@ OBAHREL ..o
New. . . 5
CKZaN GRS - G,NPT,Rc 15°~135 UREK
-P&F
CKZ2N % G,NPT 30°~135°
(RN

SVC

O

NAAMS
New
ERRIFERAERL
&R T RITERL
ARIPRELABIMEBESIN R E
New

e

ST RERAEL A5

.:'. New
XHmEEE

i REBEG
 rRERsAMR39%

S ae_ xpm| o | BEE |
(mm) #THfE| CKZ3N | CKZ2N o
enenman)| 317k | 5.06kg | 37%
(eEnn g, AL 436k | 7.16kg | 39%

HEAMER
AT AT

EEBITAEESEUE
TR ML REERRAEE,

RAENE AENE RN AN




ERES St
BR MG
CKZ3T %7 050, 063

&R R
it K AR

RIPE: &R
FHREBRIFE

RIPFIRITARERE.

B 1L IR 4R P R RIER K T

TN RPE. B
ULO4TAEVOHR & AR 1

REMF—M2E, 5T
FEMETFFRE

New Rt m AT UEFEB I X

A LS

New

Reili Q2SR &L

New.
CKZ3T

= — GNPTRc 15°~135°
- TURCK
- - - P&F

CKZT G,NPT  30°~135°

&

gEE @ -

2% - o
2 SNC

New
ERFRIFEREL
BT RITER L
- RIPKEABIMNEEIMNE
New
EE
ST R A5
New
XHAESE
.3 4R

S EaEnaAER39%

fE _exg | Wew | B
(mm) #TAAE| CKZ3T | CKZT

3.14kg | 5.06kg | 37%
4.34kg

TRE AR
AT E T

HIRE

50135

63 —135° 7.16kg | 39%

IEXBIFRERSUE
TR BT, RESRALER , 3T L
BEEEEWITHRE.

= EPFS
£ = =T R ST FFS 0
B#EE - © 0 =

[ g ]
pEne] wer | crE | gre | Az | £

1T HLAR

— BANE BANE AN
° ° ° ° ° °
K2




58 7] X UL
CKZ3N %3

CKZ3T %5 F IR
1R B (ULOAHI VO ).
T EE RS B

BT

RH{RETRE HOREL .

BLFFX
o % FITURCK & P&F % .
A, TNBEFELIX,

/ N

s Y4
@

SN

% N=—p
oLz 2 2 2% 2 K]
) £

gihe
AN ST 3R S RS R A9 A

CKZ3TH KRE
l3D CAD | XN
B EY | CKZ3N/CKZ3T

CATIA £T4Z(mm) 14050 124063
UNIGRAPHICS o 15°, 30°, 45°, 60°, 75°

Sk EREITHAE 00" 105 120° 135°
FIDES

< TURCK/P&F

AUTO CAD

RL g S NPT/G/Rc
SOLID WORKS

MXETHERR, BERSMCHN L
www.smcusa.com, = fE-Techf
[SEH T

IR



CKZ3 %7l
REEERFED

1 ZFMRTHHLEEFEE
WEAZEsIME TR RS
ERREEREBNXETLH, AELBRENFETS,
EEARAD TR, BRA TR

W BEREEEHIE, FEREY.
JEE - TBILE e 05
SE-IERES 1HILE /////////\

| 0

1
2
3
4

T = = —

5) A REBERAFBRER MR TR, KERPIRE A B AREI0~+0.5

2 BHRZSENRETTIE
W{LER R NHITRE )

B —
e U4 e g
TR N
45 - =
kB 301 T G
SHEN SHEN v REMER —
B4 TS
iﬁgu\ SHEEO ;\m%ﬁ .
A 1t 1 1l
il
b
%

CKZ3NZ! CKZ3Ta

NRETRF
. [rman—| mwE |_[ == |_[mmrzmms
[ mare |—[smes)—| oy S B
X B Bt
B C

NHR
A)RETIH, FEAERBREZEMRARETEREMELETS, EREEEHNEL LR,
B) & L RFETRBE S, EIAMEENRZ B8R H0mm,
B, MRt R R ERETHHXEN,
C) MB)HIRS#H—FRARR . MNEFEREN.
RANERRAXEEKE. ENFNTRAMNRE. BSHMERETHI).
BR. BFRNXERHAEZRE, KASFEI0%HNIRE, FILRIEAKREE.

% SNC A fff2



CKZ3 ,%ﬁll
= /TE.H lf@

2 B A RESEAMRIETTE
BRAMEREMEXZNZEHXER
) AT B ER EREAGEM BRI, T
XFRARANEE, FERZEEM.
MR R ELRT M R BB e E X R B MEER.
Mo T 7L B S B B Rk 4 2 B MBE I A, SR
A_ kEHKEL

EB

]

| | |
|
§
© ®
©
‘ i *1 *1
| BS A BS A
L] CKZ3N50 5 CKZ3T50| 10
CKZ3NZ! CKZ3N63| 10 CKZ3T#! CKZ3T63| 10
250 263
*EBHKEL 150mm % EEKEL: 200mm
3000 3000
//‘\\\] »(/:N\\’
\<‘\ J // S 1//
2500 =5 2500 S
RES) A RZN /| |% | 0.7MPa
wEE N ||| I B T N
2000 "// S 2000 iR '(
< / | |,07MPa < / \O'SMPa i
& 1500 [/ / xg 1000 p7 o <
.EK (// \\1 . .EK (‘/\/’ SS
) *‘\// ~\‘~ 4/ »‘\ \
1000 \ AN 0.5MPa <k 1000 ,/ e
/N L oawea< // _+ 03MPa ~—_
/ \<\ \\\ / /4 \.~~\ N
500 T 500 A T
/ =~ r4
0
0051152 2533544550556 657 0051152 253354455556 657
# R EE(mm) #RHEE(mm)
wa | |03MPatHE wa [|0-3MPagse
# # «
Eg 0.5MPafih4 Eg 0.5MPaih4
0.7MPash4 0.7MPafth4
GO




neweyz CKZ3 %7

2 BHRZSENRIETTIE
{ERE L BT R ENHE

= -
ET TN 5 R EM
SHEED 3 SHEED
&4 S
SETEA~ SEEH
5 1F ENEBA
CKZ3NZ!
ZETRF
\ o | (oo | B9z || mzry |_|#zrrscm|_ [ | mEse s o
pEmran |—[pees]-| TR Bl BRI RAAS MERRIRES Q
) R RS BEBm ]
B C
D
N
T8 '
A) RZE FFEIE SR, HXRENRASS, FREBEDELER,
B) % b RA FIRE®R D, - T8 s> 84918 B A £ 550mm., .
XA, MIBIS Fiff, THBIESREEEXREA. 17
C) MB)SRASH—SImAEN Bt ESN. il
BRAMEEELEEKE. FEHLHARTR, &5 0K ERGINS). I
B2 BMTFBALEAKMAZRE AASEE10%MIRE BN ABUE.
D) ZO)MPRATREHRAQD, MIEMER EMkS T HEEH,
N
LEMESRIHE

EFREm
EREELREMSIR, UMIL#EEES, NHEFENERDRHKFERRESE.

BIfff4



CKZ3 %7l
REEEHES

FRANEEE FEBERKEMRALKENZ BMNXE
BEEAEAFHENEEE, 56000 f# £ 770.5MPa
S RBEKELN TR,

k= kEBKEL 4000 \

CKZ3N50 263

CKzaTsp | o0mm S 3000 R

CKZ3N63 | 5.0 R K

CKZ3T63 5 2000 L N

’ 050 | -
T~
1000
0 0 50 100 150 200 250 300 350
%% A BKEL(Mm)

|CKZ3Nz!
R ZERIR IR
(FREFRBBHDESE BSITHOMER.
) ZERTNOEXEBENER,
B EER(R/L) M e X ER(D)
BENESFREL AT OB ANESL. XEBHAR BIRIBE R BB AEW + W)W E LRI BG. B AH9EE
B0, ERANNBARNESR, FEAFEERER. BL, REBIAAE SIERASTHARNRE.

ENZEWI+W2), FEARVFEERER.

[CKZ3TH!

KEBRIR A

RTREFXZENMHEER
I ZEETERXEENEER,

GIGE)

BESHR6M R,




neweyz CKZ3 %7

250 063
_ 150 -~ _ 300
: "N N T e IR TS
£ 10 " AN < N £ 280 \.' : X N
£ NN =1 |E T .
o N N = ' . S N
% 120 N \\\\ \\ < % 240 \ \ \ N N
;}I 110 ANERN \\ N Bm 220 : \\ e
& N N ™. =~ s \\ \ N N\ [ ™~
£ 100 SN ~ £ 200 = o
= N N ~. = \ L\ AN S -
B e S — 2 a0 AN NI ~to
% 80 ~ % 160 \\\ S ~ T
# L T # 1 I
e I R A N R e = S
3 i b -
5 6o w120 < < L ] —. @]
= 0 % 100 ~ = [ A
0 05 10 15 20 25 30 35 40 45 50 55 60 0 05 1.0 1.5 2.0 25 3.0 35 40 45 50 55 6.0 65 7.0 7.5 8.0 N
SR FRE (k) S EURE (k) %
—_ R 60° —-—-— 90° — — — 120°
S EBEITHREO _
— - —-45°  —- —- 75  —-—-105 135°
N
i
3 AY Dl ;EI'
4 &t ER= (g &
FRITE, BETEMERITEE. -
FHBERAEH FHERNBEIAERE

PP S

Bk =)

150

MIN

-

BRERIT, 1F

Bz,

RIPE, BELEE,

BERIFE

O
2

(mm)
FARES
(mm) Y
50 132
63 138
B Ff6



CKZ3 %7l
REEEHED

5 EXBITHRAERFE
IXTFEEBITHAAEGEEREAE), RERNSFHRTH15°, 30°, 45°, 60°, 75°, 90°, 105°, 120°, 135°%9Fk,

NXRZBETFRARRAZRSR

) EREREEITAAEN, ESLESEATRER, FRHRIENOTIEHNES.
) MFMTREFXENER, HTHFXE.

3) ITAMMAARER, NTRPNEENE  BHEFIFATEAEREOME.
HBFAXBRERME, UTRPOHEENE, BAXBEERRITE.

FHEES EE %6

&R (mm) (N - m)

R 50 0.6~1.0
A7 iR 63 0.6~1.0
. 50 2.6~35
FRERRER 63 2.6~3.5

TFRERKER
5) BT mBMRAER, BEHERIMEBAEAEMNEARAESE, NTRTPORENEITE.
BHRRAZREN, BRREEEY. MRERAEEFHEMNERTERTRABE TRbBTHZHEUMEERR.
(FINAERTE. )
XTEANRMERES, F5EFEATUCKZIN), 51557(CKZ3T),

FARES BEEH4E

B (mm) (N - m)
N 50 130~150
PRArE 63 160~200

_ =KXAEO
e RS ARl B
‘o CKZ3T50 75° 105°
) . CKZ3T63 60° 105°

BIFI7



CEWIE S bl
NAAMS iR & HR A4

CKZ3N %7

050, 063

RESH

S RTFIE

CKZ3N 63

TF

120

(TEEE) 1
BAIKESE
JeEHE
NAAMSHItEFRAE
EEEEEKR
fifze
50 | #8050
63 | #4063
SELEOMELe
xigg | NPT
TF G
TP Rc
REBITHRAE
15 | 15°
30 | 30°
45 | 45°
60 | 60°
75 | 75°
90 | 90°
105 | 105°
120 | 120°
135 | 135°

MR T80, ESEH12TTHEREH",

CKZ-[63][A002

58 1R ESEL
JeE A%

l

iaKES

50

1H% 050

63

162063

15‘5'%’% R

(FSHHEIMMES~TTT, )

BREPE

SERIPE

SRR ARS

T

TURCK

P

P&F

w

T ARS

SKERBE
R

kREERER




CKZ3N %57

SELIE

52 4724050 1724063
e WER
(B ik =5
it EiX G E S 1.2MPa
maEREN 0.8MPa
RIKEREN 0.3MPa
R R RER AR -10~60°C ({8 % 55)
.. T EW: T
= SR
SRR ] S EE: 1.08. 3% B E: 1.08

SEHRE(EXRZE)

B4 kg
- N e ZETHAE
ulfz KEEGE =
(mm) 15° 30° 45° 60° 75° 90° 105° 120° 135°
= RIL 3.31 3.29 3.27 3.25 3.23 3.21 3.20 3.18 3.17
D 3.37 3.34 3.32 3.31 3.29 3.27 3.25 3.23 3.22
= RIL 458 455 452 4.49 4.46 4.43 4.40 4.38 4.36
D 4.67 4.64 4.61 4.58 4.55 4.52 4.49 4.47 4.45
Fr R HAE
R TURCK P&F
HMETEE 2mm=10% 2mm=10%
R E DC10~30V DC10~30V
i N.O., PNP N.O., PNP
EZELH BT 150mA 100mA
Wi iz 83 2R 30Hz 25Hz
IFEMR PBT PA6, PBT
— M e S M: e
W RTR
FEXEM: EE ELEM: EE
BERT %e &ZE

E) FFRABIRB LT RIERIRARS.

P 2k
BB
ﬁ]& Lood "
S A
= 4 2 BN % =X %%(_)
: Z S2 Lood
V ae EE RS
= (+)
3¥) TURCKFIP&F 38,



58 ] e X ST
B EHNAAMS AR AE

CKZ3N %7

KEBRE
ke SMC# = EEZBERB | NAAMSSEZ KD H112 SMCHIZ sxeim | NAAMSS 2R

CKZ-50A001 A001 ACA201M CKZ-63A001 A001 ACA001M
CKZ-50A002 A002 ACA202M CKZ-63A002 A002 ACA002M
CKZ-50A003 A003 ACA203M CKZ-63A003 A003 ACA003M
CKZ-50A004 A004 ACA206M CKZ-63A004 A004 ACA004M
CKZ-50A005 A005 ACA207M CKZz-63A005 A005 ACA005M
CKZ-50A006 A006 ACA208M CKZ-63A006 A006 ACA006M
CKZ-50A007 A007 ACA211M CKZ-63A007 A007 ACA007M
CKZ-50A008 A008 ACA212M CKZ-63A008 A008 ACA008M
CKZ-50A009 A009 ACA213M CKZz-63A009 A009 ACA009M
CKZ-50A010 A010 ACA216M CKZ-63A010 A010 ACA010M
CKZ-50A011 AO011 ACA217M CKZ-63A011 AO011 ACAO011M
CKZ-50A012 A012 ACA218M CKZ-63A012 A012 ACA012M
CKZ-50A013 A013 ACA221M CKZ-63A013 A013 ACA013M
50 CKZ-50A014 A014 ACA222M CKZ-63A014 A014 ACA014M
CKZ-50A015 A015 ACA223M CKZ-63A015 A015 ACA015M
CKZ-50A016 A016 ACA226M CKZ-63A016 A016 ACA016M
CKZ-50A017 A017 ACA227M CKZ-63A017 A017 ACA017M
CKZ-50A018 A018 ACA228M CKZ-63A018 A018 ACA018M
CKZ-50A019 A019 ACA236M CKZ-63A019 A019 ACA019M
CKZ-50A020 A020 ACA237M CKZ-63A020 A020 ACA020M
CKZ-50A021 A021 ACA238M CKZ-63A021 A021 ACA021M
CKZ-50A022 A022 ACA246M CKZ-63A022 A022 ACA022M
CKZ-50A023 A023 ACA247M CKZ-63A023 A023 ACA023M
CKZ-50A024 A024 ACA248M 63 CKZ-63A024 A024 ACA024M
CKZ-50A025 A025 ACA256M CKZ-63A025 A025 ACA025M
CKZ-50A026 A026 ACA257M CKZ-63A026 A026 ACA026M
CKZ-50A027 A027 ACA258M CKZ-63A027 A027 ACA027M
CKZ-63A028 A028 ACA028M

CKZ-63A029 A029 ACA029M

CKZ-63A030 A030 ACA030M

CKZ-63A031 A031 ACA031M

CKZ-63A032 A032 ACA032M

CKZ-63A033 A033 ACA033M

CKZ-63A034 A034 ACA034M

CKZ-63A035 A035 ACA035M

CKZ-63A036 A036 ACA036M

CKZ-63A037 A037 ACA037M

CKZ-63A038 A038 ACA038M

CKZ-63A039 A039 ACA039M

CKZ-63A040 A040 ACA040M

CKZ-63A041 A041 ACA041M

CKZ-63A042 A042 ACA042M

CKZ-63A043 A043 ACA043M

CKZ-63A044 A044 ACA044M

CKZ-63A045 A045 ACA045M

CKZ-63A046 A046 ACA046M

CKZ-63A047 A047 ACA047M

CKZ-63A048 A048 ACA048M




CKZ3N %7

13 15
— &EERRIFE
RIFE —
e &)
10
1
3
11
7
13
14
9 (
8
i FFFRE
R TTE A {RE 5B _
FS AR AR &2 (mm) HERS . AR
T DB ETURCK)
2 PRATIEHE AR
N 50 CKZ3N-S050T:%" ®E L EEE
3 TR EE @ fiI2 35
4 | Bopik (OFF & X ETH 1B
5 R E DR X BRIP B2
: SiarE %Eﬁiﬁiﬁﬁ?ﬁ%ﬂ?ﬁ
! B 63 CKZ3N-S063 T N 2
8 | EfinEmE %@gé%@ﬁ
o | xmmEaH : ki
10 FRXERHHE %giig(l’&ﬂ
11 ANBRIPEER ]
4\ e 50 CKZ3N-S050P3E1) @ LEBE
TR T XAk @A BEEIFH
o OFF 36 2 fE 4 218
14| FE@8 DAY WA B RYH B84
16 RN A2 KZ3N-S063Pit1) QRARBRPEBES
17| mits 63 c E A
18 R g DFzpE NER
19 SE#E OF X% E
20 | pa e 50 CKZ3N-S050W:E) OF AKX ERPE
22 | EAnRa [ 7 2
BRI 63 CKZ3N-S063Wsi1) ODRANARIPSEE
Glarav=E:$
F*1 50 CKZ3N-B050[J#2) %ggfﬁ
REBITHAE K BRACIEHELH 14 - OF=F
15° J 63 CKZ3N-B063[ /¥ Q4E IR AL
30° H .
g 0 CKZ2N-T050 OBERFRIFE
5 G S DR
60° F 63 CKZ2N-T063 (C)- P73
S E :
;g" D fRap R4 50 CKZ3N-T050M @@Eﬁ#ﬁ
S & E®2E
1220 g 63 CKZ3N-T063M @ 3 3Li2te
135° A 71) T=TURCK, P=P&F, W=THx% I2) ERAFRIPHNRBIETREENTHAE.



SEVFSIE 7B
FARES RVFBE N
(mm) N-m
50 800
63 1500

MIERBERTS . SBHN, REEBWBENNLE.

8 Ik ESE
A FNAAMS AR AR A

CKZ3N %5

= oAl 4
RAXEZENIE
BEAN -
52 BAXENE
(mm) 0.3MPa 0.4MPa 0.5MPa 0.6MPa 0.7MPa 0.8MPa
50 100 130 160 190 220 250
63 300 350 400 450 500 550
V— =10
SEL1THE
B mm
512 kBB AE
(mm) 15° 30° 45° 60° 75° 90° 105° 120° 135°
50 227 31.9 39.7 47.2 54.8 62.7 70.4 772 82.1
63 24.2 342 426 50.6 58.7 66.9 74.8 81.6 86.4




CKZ3N %5

A
MR~ E
pe ikl R Hh4A (IE 77 7%)Nh9
RA(Fi 1% 5 %) XA 7
RC RR RB XB i
(EREE) R (AXEB) /" /
XC ]
(<) (<>
m
-
—l— PC.o0s ¢ T
[a)
o
o
[G]
) S
g Jo— 5
) I j L]
PR -
—c—1
2x2xgP H7 @
@\ wED 2x2x MM
REJ
« 2><2xl\é;PT1/4 Pav:]
G he CES
1m8)
sl [ 1] ) iullis;
RD B
(mm)
ke
o B c D E GA GB GC J L LA LB MM N P
50 92 48 12 13.7 95 | 166 955 | 12 | 3766 | 1555 | 78.4 M8 x 1.25 19 8
63 110 54 15 16.6 99 | 1715|1005 | 12 | 391.6 | 161 78 M10x 1.5 22 10
4Z
(ﬁ{:ﬁ) PA PB PC PD R RA RB RC RD RR w XA XB XcC
50 45 45 5 40 46 88 20 20 46 48 | 78.4 | 1385 | 134 92
63 55 45 10 55 52 104 25 25 52 54 | 78 151 146.5 | 104.5




5B KBS
A HNAAMSHIAR AR

CKZ3N %5

SME R~ E
P i XA _
& | — :
. : (mm)
ARES
— XA
(mm)
. | (@] = =
| 63 107.5
AIERIER
NA :0.05 NC
@ fi\\\ g S
Y | : — -
m -
. § § |2
= Wary Y
So a Var
e ¥ Yl
Va N
i d A
2xoVH7 7 | ==
4xNN®RS VA-:o0.02
(mm)
Gl I K NA NB NC NN S v VA VB VC
(mm)
50 12 55 13 | 36.5 9.5 M8 x 1.25 11 8 30 32 | 635
63 15 55 13 | 365 | 15 M8 x 1.25 13 8 30 32 | 635 iT
) il
ERRFEE FHRERNEETHS 5l
BRPE, BEEEE. %
>
T 1 L
| ) (=
'
d& (mm)
S fARES
it LB \%
i i 50 784 | 132
RIFEFTFRFE 63 784 | 138




CKZ3N %5

A
SR R~ E
FUEE /050 . .
R B 8 8
s < 20mm - b
HE&-FAMT g w8 - FAMT g
A
A M6 x 1.0
‘\ coI /Y% B %
g %ia 3
o z
. Y icam
N £ (<) )
— \Q
Re % 19 g" . oy 2
b Rs G
MEN
e NAAMSt73 A FiEkg ] NAAMSft73 A FEkg
CKZ-50A001 ACA201M 90.0 0.6 CKZ-50A007 ACA211M 90.0 0.7
CKZ-50A002 ACA202M 120.0 0.7 CKZ-50A008 ACA212M 120.0 0.8
CKZ-50A003 ACA203M 150.0 0.9 CKZ-50A009 ACA213M 150.0 1.0
BHZ%-H7mI A 25mmiRE - FFLIMT A
B B
C
C 0028 o
D 08F7 1§85 % D O8F7 bon A1
E FE )
F g G g
G ol & o &
= N ’ H DDl
NP NNV NN 2N NZA A AVZAANZY
WY WY WY k,(] 300025 | 300025
300025 | 30+0.025 H o115R@ &
H oURE g M6 x 1.0 I 9
! 2 BRER .
T | s
Q 3 ™ 3
Re ) 8l o
©
= NAAMS =8 = NAAMS =8
ilB=3 i A|B|C|D| E|F|G|H | kg k= e A|B|C|D| E|F|G|H | kg
CKZ-50A004] ACA206M | 800] 650] 500] - [ - | - | - [ 900] 650[ 0.5 CKZ-50A010] ACA216M | 800] 650] 500] - | - | - | - [ 900] 560[0.5
CKZ-50A005| ACA207M [110.0] 950 80.0|65.0[50.0| - | - [1200] 950] 0.6 CKZ-50A011| ACA217M [1100] 950 80.0|65.0[50.0| - | — [120.0] 860] 0.6
CKZ-50A006] ACA208M | 140.0 [ 125.0[110.0]95.0[80.0| 65.0 [ 50.0 [150.0| 1250[ 0.7 CKZ-50A012] ACA218M | 1400 [ 125.0[110.0]95.0 [80.0 | 65.0 [ 50.0 [150.0| 1160] 0.7
BE&-AAmMI 25mmiRE - FFLMI A
A B
B C
Cc 0022 g5+
D 06F7 1855 5 ED OOF7 iELE
E F .
F g G S
G ol 5 o/ &
= ] OoooGda
AN A AN AT &l
YN Y Y \,(:[ 30:0025 | 300025 g
300025 | 30+0.025 H QIR B Lg
H PIRBE 8 M6 x 1.0 S S N
. 5 BEREER )
EENEEE
8 ol B
§ o ]
K
= NAAMS 8 = NAAMS 8
S e A B|C| D|E|F|G|H | kg S *10 A|B|C| D|E|F|G|H | kg
CKZ-50A019] ACA236M | 800 650] 500] - | - | - | - | 90.0] 650[0.5 CKZ-50A022] ACA246M | 800] 650] 500] - | - | - | - | 90.0] 560[0.5
CKZ-50A020] ACA237M [1100] 950 80.0[65.0[500] - | - [120.0] 950[ 0.6 CKZ-50A023| ACA247M [1100] 950 80.0[65.0[50.0] - | - [120.0] 860] 0.6
CKZ-50A021] ACA238M | 1400 [ 125.0[110.0[ 95.0 [80.0 | 65.0 [ 50.0 [150.0| 1250[ 0.7 CKZ-50A024] ACA248M | 140.0 [ 125.0[110.0[ 95.0 [80.0 | 65.0 [ 50.0 [150.0| 1160] 0.7

8




58 J1 K X KL

A FNAAMS AR AR A

CKZ3N %7

S R~ E
45mmigE - LT
s
‘ B
f.
f (3}
M6 x 1.0 % “l g
S vam
P
119
AS NAAMSHS B HEkg
CKZ-50A013 ACA221M 90.0 55.0 0.8
CKZ-50A014 | ACA222M | 120.0 | 850 0.9
CKZ-50A015 | ACA223M | 150.0 | 115.0 11
50mmiEE - FFLMIT 50mmiEE - FFLMT
c
08F7 1381 FiE D o6F7 183% Ri®
E E
F g F :
- o8& G 9|8
!H Qeooodal— !H 4 !
300025 e CORE
J g g
n
L g 5
mg |(NMAMSIA|B|C F ! oo NaMSla B |Cc|D [ i
CKZ-50A016| ACA226M| 80.0| 65.0| 50.0 - 90.0| 60.0 0.6 ACA256M| 80.0| 65.0| 50.0 60.0 0.6
CKZ-50A017|ACA227M|110.0| 95.0| 80.0 = - [1200] 90.0] 86.0{ 0.7 ACA257M| 110.0| 95.0| 80.0{65.0 90.0] 86.0/ 0.7
CKZ-50A018| ACA228M | 140.0{125.0 | 110.0 65.0150.0{150.0/120.0/116.0| 0.8 ACA258M)| 140.0{125.0 [110.0| 95.0 120.0/116.0/ 0.8




CKZ3N %57

IMERSTE
FEE /063
RB
H&-XZfLmI . 20mmiRE - LT :
IR J I
A A
M8 x 1.25 A
Q‘:l/
2 33 M8 x 1.25 ”
- N~
9 ;
3 T
% / E
N
Q
) NAAMS R 75 A F kg ) NAAMS & 23 A & kg
CKZ-63A001 ACA001M 135.0 1.2 CKZ-63A013 ACA013M 135.0 1.4
CKZ-63A002 ACA002M 165.0 1.4 CKZ-63A014 ACAO014M 165.0 1.6
CKZ-63A003 ACA003M 195.0 1.6 CKZ-63A015 ACAO015M 195.0 1.8
CKZ-63A004 ACA004M 225.0 1.8 CKZ-63A016 ACAO16M 225.0 2.0
CKZ-63A005 ACAO005M 255.0 2.1 CKZ-63A017 ACAO17M 255.0 2.2
CKZ-63A006 ACAO006M 285.0 2.3 CKZ-63A018 ACAO18M 285.0 2.4
BE&-H7mI 25mmiRgE - FHFLMI
A A
B B
c c
D D
E E
F F
G G
H H
I
J J
K K
L oBF7 352 i 0 odF7 82
N ol1:i N 28
[e] o] 0
& g N TN
IES POPOPOOOPS PO QIS I e T
30-:0025 | 300025 | 300025 | 30005 | 300025 [ 300025 3 8 30-0025 | 30005 | 300025 | 300025 | 300025 | 300025 %
P g o118 \ &
M8 x 1.25 o) § P 8
%rZ Q - Q &
X i M8 x 1.25 P )
i HEERERRRRERRN @ rrrrrrrrrr T
(s}
Y O I SN ..
— N 3 [e2]
22| o i -
l£5] el S
3
e N?Q_Efs A|lB|C|D|E|F|G|HI|I me N?@.}'\E"S A|lB|C|D|E|F|G|HI|I
CKZ-63A007| ACA007M | 125.0 [ 110.0 | 95.0| 80.0| 650 | — - - - CKZ-63A019] ACA019M | 125.0 [ 110.0 | 95.0| 80.0| 650 | — - - -
CKZ-63A008| ACAO08M | 155.0 | 140.0 | 125.0 | 110.0 | 95.0| 80.0| 65.0| - = CKZ-63A020] ACA020M | 155.0 | 140.0 | 125.0 | 110.0 | 95.0| 80.0| 65.0| - =
CKZ-63A009| ACA009M | 185.0 | 170.0 | 155.0 | 140.0 | 125.0 | 110.0 | 95.0 | 80.0 | 65.0 CKZ-63A021| ACA021M | 185.0 | 170.0 | 155.0 | 140.0 | 125.0 | 110.0 | 95.0 | 80.0 | 65.0
CKZ-63A010{ ACAO010M | 215.0 | 200.0 | 185.0 | 170.0 | 155.0 | 140.0 | 125.0 [ 110.0 | 95.0 CKZ-63A022| ACA022M | 215.0 | 200.0 | 185.0 | 170.0 | 155.0 | 140.0 | 125.0 | 110.0 | 95.0
CKZ-63A011] ACAO11M | 245.0 | 230.0 | 215.0 | 200.0 | 185.0 | 170.0 | 155.0 | 140.0 | 125.0 CKZ-63A023| ACA023M | 245.0 | 230.0 | 215.0 | 200.0 | 185.0 | 170.0 | 155.0 | 140.0 | 125.0
CKZ-63A012] ACA012M | 275.0 | 260.0 | 245.0 | 230.0 | 215.0 | 200.0 | 185.0 | 170.0 | 155.0 CKZ-63A024] ACA024M | 275.0 | 260.0 | 245.0 | 230.0 | 215.0 | 200.0 | 185.0 | 170.0 | 155.0
= NAAMS = o NAAMS =
BE e J|K|L|[{M|[N|O|P|aQ i ikl pri J|K|L|M|[N|O|P|aQ|f
CKZ-63A007| ACAOO7M | — | — | — | — | - | — [1350] 850] 1.0 CKZ-63A019] ACAOTOM | - | - | - | - | - | - [1350] 850 1.3
CKZ-63A008] ACAOOBM | — | — | — | — | — | — [te50]1150] 1.2 CKZ-63A020] ACA020M | — | - | - | — | - | - [1e50[1150] 1.5
CKZ-63A009] ACAOOSM | — | - | - | — | - | - [1950]1450] 1.4 CKZ-63A021] ACAO2IM | - | - | - | — | - | - [195.0]1450] 1.6
CKZ-63A010] ACAOTOM | 800 650 — | — | - | — [2250]1750] 1.5 CKZ-63A022] ACA022M | 800] 650] - | — | — | - [250]1750] 1.7
CKZ-63A011| ACA011M | 1100 | 95.0| 80.0/65.0| — — | 255.0(2050] 1.7 CKZ-63A023| ACA023M | 110.0| 95.0| 80.0|65.0| — — [ 255.0({2050] 1.9
CKZ-63A012] ACA012M | 140.0 | 125.0 | 110.0 | 95.0 [ 80.0 | 65.0 | 285.0 | 235.0 | 1.9 CKZ-63A024] ACA024M | 140.0 | 125.0 | 110.0 | 95.0 [ 80.0 | 65.0 | 285.0 [ 235.0 | 2.1

10



58 ] e X ST
B EHNAAMS AR AE

CKZ3N %5

A
SMERSTHE
65mmiRE — AL T © 115mmiEE — TFLinT S
A A
B
o 5 % 5
M8 x 1.25 &
X 1. g [
?"’& (: o 3
2 M8 x 1.25 @
\
]
S [
\
]
a
S NAAMS {5 A B E-LC) ks NAAMS {52 A Eg-LLC)
CKZ-63A025 ACA025M 135.0 81.3 1.7 CKZ-63A037 ACA037M 135.0 2.1
CKZ-63A026 ACA026M 165.0 | 111.3 1.9 CKZ-63A038 ACA038M 165.0 2.3
CKZ-63A027 ACA027M 195.0 | 141.3 2.1 CKZ-63A039 ACA039M 195.0 25
CKZ-63A028 ACA028M 225.0 | 171.3 2.3 CKZ-63A040 ACA040M 225.0 2.7
CKZ-63A029 ACA029M 255.0 | 201.3 2.5 CKZ-63A041 ACA041M 255.0 2.9
CKZ-63A030 ACA030M 285.0 | 231.3 2.7 CKZ-63A042 ACA042M 285.0 3.1
70mmiEE - FFLnIT . 120mmiRE —BFINT
B BA
C C
D D
E E
F F
G G
H H
I 0
J J
LK o8F7 105 eiE LK o8F7 3%
] M R
N o11RB N
o) o) ol1ER
— —
] DOBOOOOCOODOED, ] oo oevooodd]
30:0025 | 300005 | 300 | 300025 | 300025 | 30:0025 wl 8 300005 [ 300025 | 300025 | 300025 | 300025 | 300025 wl 8
P N P Yo
Q R Q ¢
57 8 8
M8 x 1.25 % s % S
©
& ° & 3
% M8 x 1.25 s
\ 3
] . B
& o 2z
22 = g )
]
RN
122
me N'?@ﬁ“q"SABCDEFGHIJ we N?J?E"é'SABCDEFGHIJ
CKZ-63A031] ACA031M [ 125.0 [ 110.0| 95.0| 80.0| 650 - - - - - CKZ-63A043| ACA043M [ 125.0 [ 1100 | 95.0| 80.0| 650 - - - - -
CKZ-63A032| ACA032M | 1550 | 1400|1250 110.0] 95.0] 80.0] 650 - | - | - CKZ-63A044| ACA044M | 1550 | 1400|1250 1100] 95.0] 80.0] 650 - | - | -
CKZ-63A033| ACA033M | 1850 [ 1700 | 155.0 [ 140.0 [125.0 [110.0] 95.0] 80.0] 650 - CKZ-63A045| ACA045M | 185.0 | 1700 | 155.0 | 140.0 | 125.0 | 110.0| 95.0| 80.0| 65.0| -
CKZ-63A034] ACA034M |215.0 | 200.0 | 185.0[ 1700 [ 155.0 [ 140.0 [ 125.0 [ 110.0 | 95.0] 80.0 CKZ-63A046| ACA046M |215.0 | 200.0 | 185.0[ 1700 [ 155.0 [ 140.0 [ 125.0 [110.0 | 95.0] 80.0
CKZ-63A035| ACA035M | 245.0 | 2300 215.0[ 200.0 | 185.0 [ 170.0| 155.0 | 140.0 | 125.0 | 110.0 CKZ-63A047| ACAD47M | 245.0 | 230.0 | 215.0| 200.0 | 185.0 [ 170.0 | 155.0 | 140.0 | 125.0 | 110.0
CKZ-63A036] ACA036M | 275.0 | 260.0 | 245.0[ 230.0 [ 215.0 [ 200.0 [ 185.0 [ 170.0 ] 155.0 | 140.0 CKZ-63A048] ACA048M | 275.0 | 260.0 | 2450 230.0 [ 215.0 [ 200.0 [ 185.0 | 170.0 ] 155.0 | 140.0
= NAAMS 2 = NAAMS =
8BS wm K|L|{M|N|O|P|Q|R kg 8BS fré) K|ILIM|N|O|P|Q kg
CKZ-63A031| ACA031M | - - - - - |135.0] 850 840 1.4 CKZ-63A043| ACA043M | - - - - - [135.0] 85.0] 1.8
CKZ-63A032| ACA032M | - - - - - 165011501140 1.6 CKZ-63A044| ACA044M | - - - - - |165.0]115.0] 2.0
CKZ-63A033| ACAO33M | - - - - - |195.0(145.0 (1440 1.8 CKZ-63A045| ACA045M | - - - - - 119501450 2.1
CKZ-63A034] ACA034M | 650 - | - [ - | - [2250]1750][1740] 1.9 CKZ-63A046| ACAD46M | 650] - | - | — | — |2250[1750] 2.3
CKZ-63A035| ACA035M | 95.0] 800[65.0] — [ - [2550]2050]2040] 2.1 CKZ-63A047| ACA047M | 950] 800]650] — | - [2550]2050] 2.5
CKZ-63A036] ACA036M | 125.0 | 110.0] 95.0 | 80.0 | 65.0 | 285.0 | 235.0 | 234.0 | 2.3 CKZ-63A048] ACA048M | 125.0 | 110.0 | 95.0 | 80.0 | 65.0 | 285.0 | 2350 | 2.6

11



HEXRESH
O 45
}tnnlﬂjfl\

| R S AT AR R AR ) e R AT

#4¢ - NAAMS##&(North American Automotive Metric Standard f9 & #7) 47/ INaVaWY B

- T2M K
LTS o
WSRTHE
e arieEd ) CKZ2N 80 [TF|-[120|R| T
ﬁﬁ%ij%l i
JeEm
NAAMS 47 Ak \./
R B E SR AT (A
AR
80| tH%080 | SETFFXAS
ST Oy e TRk
Eigs| NPT
LI SR EBE
KEBTAES
30 | 30°
45 | 45°
60 | 60°
75 | 75°
90 | 90°
105 | 105°
120 | 120°
135 | 135°

REH CKZ-80[A002

e l |
BAEESHE (BE4Ri55 2 FEACAT.C24)

L EHE
HE
|80 | %080 |
SELHAE

GAEES 1634080
R 30°~135°
i S B - 2 H
BEaEREN 0.8MPa
SEEREN 0.3MPa
MERERERREEE -10~60°C ({8 K K %)
AR Fh1ERT ] sk Z A a]1.0%), 3 s X (] 1.0%)
BIEFXRES TURCK/P&F
S mEgE NPT/G

12



58 WK ZXRE

CKZ3T %5\ -

250, 063 7
=
%
¥
AESRTAIE
FESH CKZ3T |63||TF|-|120||T|M :%
(9&;5':%%) lﬁ;cpg i
ZieS | BRRPE 1:%
BAOFEREe M | sERPS h
BRI R4 SIEEFFERIE
SAEE TR T | TURCK o
P P&F P
Fize W| =7z u
33| eiens degETR R Z
63| #5063 15\.5155 =
SELB OB 30 | 30° ——
xiee| G a5 | 25
TN NPT 60 60°
TP Rc 75 75°
90 | 90°
105 | 105°
120 | 120°
135 | 135°
T CKzT[63]-[A015]C]S
3&739&‘%’—:&11 li%%%?L
B MR e2] b | D
S | s 9
5142 B | 8 [102
50 | #0650
63 | Y4063 S EBMNE
ik
BEe oD1 D2 ]
A015 wmE15
A045 |  jmE45 c oS
— )
£ oD1 oD2

KEERER

13



CKZ3T %7

SELHAE
F112 #4050 1H4 063
;EAR WA
{ER R =5
it EiR I E 5 1.2MPa
maEREN 0.8MPa
=IRERERN 0.3MPa
NERERERRMEEE -10~60°C ({8 K K %)
S &M
4E)
= 4 SR
(R Bh{ERTE] e At i8): 1.0%), Ik XA E): 1.0%)
SERE(EXERS)
B kg
E1z kEBITHAAE
(mm) 15° 30° 45° 60° 75° 90° 105° 120° 135°
50 3.29 3.26 3.25 3.23 3.21 3.19 3.17 3.15 3.14
63 456 453 4.50 4.47 4.44 4.41 438 4.36 434
i 7 K M AE
AR TURCK P&F
EEE 2mm=10% 2mm=10%
R DC10~30V DC10~30V
i N.O., PNP N.O., PNP
EEGE BT 150mA 100mA
i Sz 357 2= 30Hz 25Hz
IEMR PBT PA6, PBT
_ FEM: g FEM: a6
BUFET BN E R EMN: B
BERTR #E 2=

E) FERAARIRIBE = RERORAGEL.

5 AS|
2B
S1 Lood
1 ,-l[ E‘Z‘
s JEk B ML %%(_)
‘1‘ '2 S2 Lood
V ae e A% e
8 (+)

7F) TURCKFP&F4tidE,

14



enxess CKZ3T %75

& E
_
SERIFE
1]
Ry &
N =
BRRPE &%
128 ¥
10 I
1 8 —
3 LS it
1i < =]
7 - @ A
13 - C &
2 D -
14 z ©
9 20 ¥
5 i
FFFEE
T kR0
Fs AR FL 12 (mm) RIS AR
1 FiR QF £
2 PR 4248 @#IE T 5% (TURCK)
3 FES 50 CKZ3N-S050T#" ®ERLEME
R @A FHEBIF
5 RIFE (OFF 3 3 fE 2 4 3 B
- ORA BRI BEE
7 | BAEFX . H) | QHARRAERE
8 BRLEHE &3 CK2Z3N-S063T (Elpay=1 47
9 N AR UERF3Fh e pE NEF
10| AXXEEHEE AT
11 Wﬁ%{%ﬁ'%ﬂ%ff? @#%J?éﬁ%(P&F) 'I,T
12 AABRPEER T 50 CKZ3N-S050P1) ®ELEHE %‘J
13 AN iR - @ Iz 3%
14 | PEE DAY 007F % s 34 M
15 | AELERPE DR BRP BB 1%
16 AN f iR @5@*{& )
= 63 CKZ3N-S063P5E1) QAANBRFBEE
18 Eéﬁ W 2B AR L
;g %%%’iﬁ QOF £
i s 50 CKZ3N-S050WiE1) OFF % ZERIPE
21 i @75 F5 12 3T
22 LR HBRAL OFF 3 % EF 3 [
63 CKZ3N-S063Wit1) ORABRPEER
O~ figie
&1 50 CKZaN-Boso 2 | DIRfrERAE
K EBITHAE KRG FRA B AR 4R %gﬁ%
o . 63 CKZ3N-BOB3[I* | gaggmsnip fir
45° G 50 CKZ2N-T050 ORI 2
60° F BFHR
. E 63 CKZ2N-T063 B Lg%
5 R E A X
90° D 50 CKZ3N-T050M O&BERIFE
105° c ¢ E#E
120° 5 63 CKZ3N-T063M QOB SLizte
135° A 3#1) T=TURCK, P=P&F, W=EFf % F2) EARITHRLEETLZENTARE.

15



CKZ3T %7

FEVF$IRE N1 7B
FARES RVFBIEIFE
(mm) N-m
50 800
63 1500
MIERERES. ZBMN, REBUBENIIE.

= 51z |
RAXRZNFE
BAN - m
IS RAXEHE
(mm) 0.3MPa 0.4MPa 0.5MPa 0.6MPa 0.7MPa 0.8MPa
50 100 130 160 190 220 250
63 300 350 400 450 500 550
y— =10
SEL1THE
A7 mm
52 EEBEITHAE
(mm) 15° 30° 45° 60° 75° 90° 105° 120° 135°
50 227 31.9 39.7 47.2 54.8 62.7 70.4 772 82.1
63 24.2 34.2 42.6 50.6 58.7 66.9 74.8 81.6 86.4

16



enxesis CKZ3T %%

A
SME R~ E
PR
it
=
I
BHe Vi
xa 2
RA XB
RR XC —
R NA-oos  NC AEE4A(IE 777%)Nh9
(& o= % B =
S
) © 3 %
[1_‘ ,L,H / \ P T !
| —
@ SN |
<>\ y/ I -
7 2
. %./\}/ £ 8
PA 002\ 7 PC-o. < 8
T 0.02 \,@%/ 005 3 S S
y Q a
>
m
O o
p=4
w
>
|
2x oV H7 7 Ll
4xNN EES c
A iT;:BaPH7 :
F; R 2x2x MM 9
REJ
< 2x2xG 1/4
S NPT
Rc
£ ie} iT
”
ms| L
RB B
AN
(mm)
GAEES
() B|C | D E |GA|GB | GC | | J K L |[LA | LB MM N | NA | NB | NC NN P
50 92| 48 | 12 |137| 95 |166 | 955| 10 | 12 | 55 |376.6|1555|78.4 | M10x15 | 19 | 13 [365| 95| M8x1.25 | 10
63 110 | 54 | 12 |16.6| 99 [1715[1015| 10 | 12 | 55 [391.6[161 |78 | M10x15 | 22 | 13 |36.5|15 | M8x1.25 | 10

=S
(%nfj’rf) PA | PB | PC | PD R RA | RB | RR S Vv VA|VB |VC |VD|VE|VF| W | XA | XB | XC

50 50 | 45 10 | 55 | 46 | 68 | 46 | 48 11 8 30 | 32 |635|715| 12 | 3.5 | 78.4 | 1385 | 134 92
63 50 | 45 10 | 55 | 62 | 78 | 52 | 54 11 8 30 | 32 |635|715| 12 | 35 |78 |151 |146.5|104.5

17



CKZ3T %7

S R~ E
FFFER "
E%g §9 @zz%
— ) .
. @
o (_—
J :
j [ ]
Zshel
A
5111 XA
SERIPER T

FHEANFEITASRE

RPE, AR, //////,

>
B [ 7
m
-
RIPENTHIIGE
(mm)
rAKES
(mm) LB Y
50 78.4 132
63 78.4 138

18



enxesa CKZ3T %%

SMERSTE / REE: WE1S

250 PR
o BESRTFE
£ i)
[ AN - s —
Aoty ey ~s — 'q'
| R T CKzT50—A015[C[S] 3
*
S 2 3 KRB
Q C i
- : R =
s R £ D3 — ) L =
Pl
b r]
2 x oDiH7 Bil T *
. ics | D1 D2 |
2x oD B S 5 9 %
9) 3002 B 8 10.2
30002 105-=041 -
EX o
CKZT50-A015CS | 0.79kg x
144 CKZT50-A015CB | 0.78kg N
65 CKZT50-A015RS | 0.90kg (<]
CKZT50-A015RB | 0.89%kg Z
| ! CKZT50-A015LS | 0.90kg L
? ] 2 CKZT50-A015LB | 0.89kg
DZEN O

15:02
;{Q
o

063
=N X R
| ,4\‘ N Ay il —_
R b NI CKZT63—A015/C|S
< (”T) l
oo 3 © REBME
= C R -I'T
15 R =
PRE o D o B o | [ L % i
7 o e ]
2% oDiH7 B3 REA -4
2 x gDz =8 (9) 3002 IE,'S"E% %1 22
300,02 105-=01 B 8 10.2
144 EE
CKZT63-A015CS | 1.02kg
6 CKZT63-A015CB | 1.01kg
CKZT63-A015RS | 1.10kg
= CKZT63-A015RB | 1.08kg
o \ & CKZT63-A015LS | 1.10kg
b ey& U CKZT63-A015LB | 1.08kg

19



CKZ3T %7

SMERSTE / REE

. mE45

250

L
PN Ny AN TSs.
l\ < R ==
/- .
»
- — 2 3
o
o
N
ham 3 @ —
gy/
2 x gD1H7 &J
2xpD: BB
(9) 3002
30002 105+04
144
65
S
o]
AN
i \ ©
H -
Q \ O
%
%
263
aE
N
AN 4 i
o<
- N © )
< ~
[s2)
[oOoD 3 e
o
[sY)
VS v we T—T 11
P 2 i
2xoDH7 &
2x0oD: FiB_(9) 3002
30002 10501
144
64
Y m
S
o)
(8}
g [\
S &N
0 [l
&

20

BSRTAE

CKZT50—A045/C|S

BSRTAE

5'&'%%11‘[%1
C| &x
R| #
L =

RETL
icS | D1 D2
S 6 9

8 10.2

E8

CKZT50-A045CS | 0.93kg

CKZT50-A045CB | 0.92kg

CKZT50-A045RS | 1.02kg

CKZT50-A045RB | 1.01kg

CKZT50-A045LS | 1.02kg

CKZT50-A045LB | 1.01kg

CKZT63—A045/C|S

9&%’%&%1
Cl
R E:)
Ll =
RETL
ics | D1 D2
S |6 |9
B 8 |10.2
Ef
CKZT63-A045CS [ 1.19%g
CKZT63-A045CB | 1.18kg
CKZT63-A045RS | 1.25kg
CKZT63-A045RB | 1.23kg
CKZT63-A045LS | 1.25kg
CKZT63-A045LB | 1.23kg




BAKESE / CKZ3T %7

1T I RAE D

BHRFEMORT. MG,

1 PN E Tl

B st m s s 38 ) B AT

Made
BERATEER,
it
5
Bvin
spAe. CKZT25 %
€29
- FEATYSRANM TN AR ——
- SR R RB(KGIUT)
CEREBTPIEFEPR £ ARSMKR it
B AE RS ﬁ
CKZT25 105° CKZT25-105-DCL781EL "
SEE —
£142(mm) 025 o
e 105° ﬁ
i 3 sk BN . L2 %
mEfEREND 0.8MPa
IEBEREARMEKEE -10~60°C (K&K %) —
BRARSh{ERTiE] e Z1.0%). FELE1.0% "
BEE(FEZEENB) 0.58kg %‘)ﬁ
1,
b3
&
®)
A
N
w
-

& E. CKZT40, 50, 63, 80
R

- T DU A f BOR BT AT AR R AT T A
- AERESTH A EIEESEE: 30°~135°
CHREZE

%1 050, 063, 0804 Fsk K
K2 RRRARAP EHAE

EHEE (R B EER T XA D).

3] RAE e il

CKZT40 CKZT40-135-DCJ2144J

CKZT50 30°135° CKZT50-135-DCJ2145J

CKZT63 CKZT63-135-DCJ2146J

CKZT80 CKZT80-135-DCJ2147J
SELAE

4172 (mm) 040 | 4A%050 | iH4e63 | 43080

BE 30°~135°
g IS BN gk
E={EREN 0.8MPa
INERERERREERE -10~60°C (K 5RLE)
RAREHER A S 21.0%), JEJE1.0%)

21




BAKESE / CKZ3T %7

1T HIRAE Q)

BHRFMRT . HAEH

|3 BT et

LA i

kEZmES
EmdiEO

ESE#EEN »
FREMES |
JERfeapii]m / 7|

SR

T

(X TRIFERAPIRT)

22

Ny
R,

BEARNEER.

stz e, CKZT25, 40, 50, 63, 80  x¢1 050, 063, 080 4 ¢ fisk & 14

2 s = il
() M2 BRRIPBE

- BEERFHRENRE

TN ERFAHETRIL

BRI ENEBEmE T I8 (925, 04055

IS
%5 B LT
FHAIER FHRAE L
CKZT25 105° CKZT25-105-DCL752EL | CKZT25-105-DCN1935N
CKZT40 CKZT40-[-DCL9476N | CKZT40-[]-DCN9992N
ckzTso | 20 40 .99 75" |cKzTso-[-DCKe4t2K | CKZTS0-[-DCKe413K
CKZT63 CKZT63--DCK9414K | CKZT63-[J-DCK9415K
CKZT80 | 30°,45", 60, 75", 90°, 105" | CKZT80-[-DCK9416K | CKZT80-[J-DCK9417K
SETHR
4172 (mm) 025 040 | 474050 | 194063 424080
D 30°,45°,60° , 75° 30", 45° , 60°

i 105 90° , 105° , 120° 75°,90° , 105°
Zim FEREM. BEH

REEREN 0.8MPa

MERER s

—pre -10~ HREE
R O-e0CHAR
RFNERT i SEE1.0%0. JEKE1.0%

&S, CKZT50, 63, 80

HMBBREEE . BRFRPENE

(KD
- EEEEREREE
- WEHRE.

RFSSENESRENEE, EXENME,

£ A ERERS
CKZT50 CKZT50-[]-DCK9388K
CKZT63 |30°,45°,60°,75°,90°,105°,120° ,135° | CKZT63-[]-DCKI389K
CKZT80 CKZT80-[]-DCK9390K
SEHE

4142 (mm) iA4050 |  #E4063 | 464080

AR 30°,45°,60°,75°,90°,105°,120° , 135°
i JEFEM . g
=eEREN 0.8MPa
INERERERREEE -10~60°C (KR LE)
=R EH{ERTiE kZ1.08. FEXRE1.0R




HEXRESHE
O 45
}tnnlﬂjfl\

040, 0803k X F {KAIE H ke ERE ‘

K - B3R EE
- B A EHEIE
BASRTAE
347 IR /= 4 152 —_
e St <M CKZT |40|TN-|120|T
l ﬁ‘}.‘l‘. 1] =
—— bl Pt
BRI EL & p PaF
PR EE (KR (080) .
$RE & T E T (KE(040) REBIHAE
30 | 30°
fL1z 45 | 45°
40 040 60 60°
80 ﬁso*ﬁéi 75 75°
SETE QIR 6 -
it s G
= 120 | 120°
135 | 135°
stz ISZ B —_
e xE CKZT|40/-|A015|C||S
P
fARES 240 184080
3&7395‘%’5‘,51 pe Di|D2| H|Di|D2| H
BR M AL ) 6|7]16| 6|9 |25
B 8 (10220 | 8 [10.2]| 25
f1z * 0409 A015{X R F S
40 @40 o ZEME
80 | {8080 a oD1 oD2
T ) I ——
1RE « R
A015 RE15
A045 1B E45 I
ES oD1
oD2
c ——
T 00
[
%=
oD [T ]
L /52(
o0 | ——
T © !
SEL
FARES 040 | 1824080
RE 30°~135°
Zih ek EM. B
m=aEREN 0.8MPa
=IRERERN 0.3MPa
WNERERGEAREEE -10~60°C (k% %E)
=IRE{ERTE) FE1.08) FEFE1.08)
BIRFXEES TURCK/P&F
bt G/NPT

MARTHMIER BERREARRDHETHIA,

23




CKZ3N/CKZ3T %% / F= mmBiliF EEIN

EARRE, AXRELNER, BSRAHK: FXRPTTHLBNERER, ESASMC
FaEREEEL(M-C03-3),

OF B HER - OxEBEHERNE
BERPENGE. VST BEREERRE)ERITE L . = e
HEE SEED, ERMHETER. : (mm) (N-m)
BEVERNLEZEHHTTFHIRNTER. BAEFHHRT 50 12~15
BRI EF, REBFITRRANE. 3 63 15~20

ERFEPENGE. IRV ER. TRERERRIMR)EM
FTRBS KR i RD, ] AT AT

— e

BRI RIP 2R ERRFRIPER

Qg9 mERNEE,
HTRESIEEHES, BARERBLBANRT, £
WSS, A ERSRNEY, BREECERTER
KR, BEERTENAM, BN TESIRE N LMY
TB%.

Qe ABHREENE.
REEFADHOEER, RATRARNEBNES.

- pIkes RE %6
THHH () N - )
50 2.6~3.5
%4
TR 63 2.6~3.5
50 130~150
PR A

63 160~200

RIP B 50 15~20
(B BARY 5) 63 1.5~2.0
RipBALE 50 15~20
(EBRIFE) 63 1.5~2.0

AR ERFNAXRPEN, BEEBREINS L,

24






AZELWEE

RXEFEMERED, ISR TNNAREERNERS MR, UBEXNESME AN EREE
Hififh, RIBXLBOEANRERIRGEE, BEXBEROM TR [&
MRS, BRXREFEANERZNE, FICHAEERIRAE(ISO/IEC). BETURAEJIS*IE

&= (el =

HEREZRIIR, BT,

A IEEE . we%kf’ﬁﬁj‘ THEFEAREGE, AREZINRENSE

= 1) ISO 4414: Pneumatic fluid power — General rules relating to systems.

ISO 4413: Hydraulic fluid power — General rules relating to systems.

IEC 60204-1: Safety of machinery — Electrical equipment of machines.
(Part 1: General requirements)

1ISO 10218-1992: Manipulating industrial robots - Safety.

JIS B 8370: S & Grid N

RIBRI=RERNER, RENIEHNESHBRAS, HEERTHITESHEN
MEEER . RMBIZRS.
QOBEEESFINMZBRMA R,
ﬁiaﬁﬂﬁlﬁun BERKIREBRHN,
HOVMEBENELE. B $PE NAERSIANZR A RET

QHEFIBIAR L ZHT, HBITARATE B BIRM T,

1. EYME BORENER 8, DAFIARSDEESHTTHLEET
IR IERENIEE,

2. IR T HRN, NEFIA L RLDSEEE, VIFEERMZIEESNER
% MREZREHNEN, SREATHNTRBEMTRER, FEE
fRiE#T.

3. BRABIYMEENTE.
7.

@ﬁ;; SUNTETERANTS, NREEZE, BEHEEAL

1. ATFEPRHPICEMBLUMISHERIFE, NRERINSBXEHNHE
%,

2. BFETFRE. BE. M=, . EM. KR S, 1R
%. ZAUMERE, dEAZER. FIEIEE. RENHE.

3. MBI ARG E=ERAENW, FHRLEAEBERNER.

4. EEYEEFEANGS, BREAFIMMSRERIPFESNSE=RK
AR, BRI, BEHHTRE, BINEERSIES TE.

EARTERIANST T L AEHBAEEH

A\ EE L mat, FTREAARTTREGHER. 1S B 8361, BLe Rl
JIS B 9960-1: #2422 1 — i % B(H 18 —RERER)
A\ 5B 1 EREHERKS FEBRETRBEAARRTLE JIS B 8433-1993: il BIRMFHIAA - R 21t
W . 0 . =
frao3R. W) BB L DR
________________________ J %
t=
%Iﬂ:l: AEEE'\
®m%ﬁmﬁﬁ%ﬁ&EHWMAA$ﬂME#EEnLO ARF R, REEFELRM,
REBHMNSR, HEASMHSMESE. RERANGITEREMAGEN | | RATIENS G, ERZEEMUFFFHNBOOHIELRHERN.
ARKAEEBERLRSG., HVBER, FRMBRAMIRERE. BE | | EHBLMMEBNGS, B5AATNE . THRIBONES, HE4,
RGFAEHEEFRIIZEEATRAEAUMARNTE, BEES | | METHZL, BRAATRENELSEHA.

RIERRRFD/EGRIERIFH

AR E, BERTUTHIRIEEZFER]. [EERAEN&M]. 7
INATAR, ERENEM- EERAS R,

[MRER B FZEDU

OXFAARFRHUFIEHER, MERFBEHIELRN, HEM
LIEM15EA, SRR, X9
F, RTFFREIMARY. ITEES. ERFHEFINE
RIEWELATEA.

QEMRIEHAN, MAMBALARREERNEEIRGNIGS, K
RARMKERRLEN TR,
H5P, HAAMRIERA LR mEBERFRIE, BFARAR™mE
BES| R K REARERENSTEEA.

ORISR Hfth = RAVEIRRIEA R R REW, FEBBZFER.

X3) AERERE AT IERFFHE1 E IR HIRIERE).
A=W AIEFEM, FRRIEMENEIE1E,
B2, MEERIEHAEN, ATEREZREMERERE, ERMRNS
wEHE, BAEFRRIENEREEN.

A

EFHEREHY]

I’1E|$LMI\H?%$“$E’]%A G S =P ERES (5N

25 LA iE

| AZeEEEW

‘ EBFFEE (SMC= A EEI) (M-CO3-3) & (MR AHY , e ITHIANER L, ERERASR

SMC(FE)FPRAE]

ik EREFHEARF R R NEHR2S
3% 010-67885566
http://www.smc.com.cn

#B4: 100176
1£H: 010-67882335

| SMCH

@ FFESHARSRNSTR, NEEEASE, BASTERA.
© SMC(China)Co.,Ltd. All Rights Reserved

QZA




